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4/3 1|fE |[BEFE1EFEDY 4,884
4/4 7 (BEE (BEHY1Y 16,500
4/4 2 |2& |BATEREHERS 10,000
4/6 2 |28 |KRRAS= 12,000
4/11 2 [ RE |BBEHLIR 6,000
4/15 | 7 |IBEE (BEAY1Y 16,500
4/16 | 2 |RE |[BATEZAISTEEESRE 4,895
417 | 2 |88 |ZHRERERREHRE 6,000
4/18 | 2 |RE |JALLFAEEHREES 4,884
4/18 | 2 |28 |[BERRBRAKXEEFHXRRES 4,730
4/22 | 2 |=E |RRATSRESFERIUBEHEES 10,000
4/24 | 2 |=2E |HEBAMEHMGESES 6,000
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5/23 | 2 |& FRAME MR RETISHRS 5,000
5/25 | 2 |& RNV ISTHRE 5,500
5/28 | 1 |fifgE |BATEI&E#HA= 10,000
5/29 | 1 |fifE |SKoHMHEEHRARS 4,884
5/30 | 2 |& FERTEIEXBREEHRS 10,000
= T4 52,324




